Solution to Assignment #2 (“Paper Homework”)

Sec 1.5 - Prob. 6 |2 pts]
(a) You can define it like the textbook: e is chosen such that the slope of tangent line to
the graph of e at point (0,1) is 1.

(b) e~ 2.7172.

(c) The natural exponential function is f(z) = e*.

Sec 1.5 - Prob. 16 [2 pts]

Sec 1.5 - Prob. 23 [2 pts] f(z) = 5*. We have:

feth) = f@) 5o
h B h
_ 5T.sh 5
a h
. [P —1
)
Sec 1.6 - Prob. 40 |2 pts]
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Sec 1.6 - Prob. 52 [2 pts]

(a)
In(ln(z)) = 1
(n(z) _
In(x) = e
Q@ e
r = e



ax
ax

eb
e(afb):r

In(ele=07)
(a —b)x




